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This paper is divided into two Sections A and B,
Attempt any one question from Section A and
any two questions from Section B.
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SECTION-A 1 x 12 Marks
g -

. After experiencing positive growth rates of total
and per capita income since 1865, India suffered
stagnation in per capita income afier the World
War-I. Was it because of stagnation in
agriculture ? What caused this stagnation ?
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2. . The Indian occupational structure showed little
~ sign of change over the whole period of 1881-
1951. Why did the development of railways not

alter the broad occupational structure of Indja ?
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3.  “The ability of India to fulfill its Imperial
commitment was dependent on a number of
important variables ~ The performance of the
domestic and world economues, the intricacies of
government finance and, most important of all, the
ability of the Government of India to balance
intemal and external demands upon its scarce
resources.” Critically examine the above statement.
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SECTION - B 2 x 13 Marks
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4.  Agrananisation of tribal population living in
forests was an overriding priority of the British
officials. How did tribal people respond to this

policy and what were the social consequences for
them ?
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5. The power loom was on average 4-6 times faster
than the hand-driven loom. Despite such a wide
productivity gap, at the end of World War-I,
around three million workers in India were
engaged in hand weaving as compared to about
half a million cotton-mill workforce. How will

you explain this survival story of hand loom
weaving ? '
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6. Tra:cc the emergence of industrial labour force in
lnd;ia during the period 1857-1947. How difficult
was the transformation of agrarian workforce into
an industrial labour force ?
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7. Discuss briefly the main trends in India’s foreign
tralle during the period 1857-1947. Identify the
circumstances that caused the changes in it.
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